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13.5.2
51a (177 108 7323 771) 2 52a (7¥51 121027 1977Y)

I.  xpavin expanding 3"1’s position (:1 NN’ RNaoIN)
a.  Example of v1 3nx v if 2 mna fell to one 02’ and he gave a v3 to both (same applies to 1 nn1’ and 2 brothers)
i. 477 1% one to receive v requires n¥’9n and v is forbidden from her kin; 2" is untouched by it
ii. opam give n¥Yn to either and he is forbidden to marry kin of either
iii. Analysis: »’s position seems to refute YR, who ruled that giving n¥>n to van nYa doesn’t free N
1. Defense (for 581®): that is according to authority who holds np’t v2; 3”1 holds np>t pr
(a) Challenge: if 1 holds np’1 PR 21121 hold nprr w2
(b) But: in last clause, same rule was applied to case of 1 nn2» and 2 brothers
(i) In which case: it refutes 11, who ruled that n%108 n¥*9n must be done by all brothers
(if) Defense (for 717233, who quoted 37): both 3 and 13121 hold npt PR
1. Dispute: is only about v3 1R va and 7MRN INR TIRN
b.  Example of 9ox8p 18 208 if 2 mna fell to one 02> and he gave anrn to both (same if 1 nna> and 2 brothers)
i. 477 gives va and N¥YN to 1% MrN-recipient, is forbidden to marry her kin but 2" is unaffected
ii. opom gives V3 to both and nx’9n to either and he is forbidden from marrying kin of either nna
iii. Analysis: since 3”1 holds &1 IR 08N PR, the first one should be able to have ma»
1. Answer: disallowing ma» is a precaution against the possibility of his doing ma» with 2nd
II. v '7’s conceptual collegium: 3™ and v”a and w™ and 'Rty j2 and n>nm "1 all agree that Inxn is a full 1p
a. 171 as we learned here
b.  w”x per n:a - 3 brothers, 2 married to 2 sisters and 3* unmarried; Bl dies and B3 did 1nxn on her and then B2
died, according to v”1, S1 may have m21» with B3 and S2 goes free as no® mnx (0”2 rule that both are out)
c.  v”r (in case where 2 brothers, both above 9 but below 13, had nx»a with nna) — if the first one’s n®»1 is NR*3,
then the 2n one’s is nothing; if the 1ss is nothing, so is the 2"! one’s
i.  And: nwaof a 9+ year old is considered like 1mxn
Ny 12 per Rnp3, ruling that 9nRn ANR RN W if done by 2 brothers (even) on 1 nna2, but not the inverse
e. /mpn2 /7 in our mwn (at the end) — nX»a or N¥HN, at any point in the sequence, is a “closer”
i.  But: n9109 nRna (after e.g. v3) is equated to IIRN by 1127
III. 2 mwn: example (of V3 IR VI or MMRN INR NRN) if he did MmrN and then gave her a v, she requires N¥’Yn
a. And: if he did "mrn and then gave her n¥’on, she still needs a va
b.  However: if he did 1nxn and then had nx»a — that is the proper sequence and mxn
c.  Challenge: this is not an example of V1 IR V)
i.  Answer (77777 27): read as V3 IR VI and MRN MR RN, as already explained
1. However: how do we “loosen” (permit) a lone na> and lone nna?
2. Answer: if he did 9nrn and gave her a v, she still requires n¥*Yn
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